REEXHRABES ER24F4AR 5
XHIEH| XA ZHAR ZHEEEA)
=& 4878 |BHLVELLXAER 10AFERSHESELUVRES 5,000
=& 4878 |BHWEBEERE BHE 8,000
=& 48108 |[MAZREETANERHBE 5,000
& 48148 |JEBEIREBTEELRHE IEHRESR 10,000
=& AB218 |FERHRNMERRAE LRI EERILS 5,000
=& 48248 [BHTEEMEE BHE= 5,000
=& 48278 |FTEETESRAETE BHFE 13,000

& &t 51,000
REEIHIKRBES FR 244584
XHIER | XA THAR ZHEEE (M)
=5 5A128 [BHM/-PERPTAERMES BHR 5,000
=58 5168 |BHMXEBEES BHER 5,000
=58 5238 |#tEEABBEZEAE BERE 5,000
=5 5248 |BHTEIS BHE= 5,000
E== 1 5258 |BHmERRREE BHRE 7,000

=1l 27,000
REEZHKRRES TRR24%56 R %
XHIEH| XA ZHAR ZHEEE M)
=& 65108 |BHMEE®RE BHR= 8,000
g+ |[6A158 |2012FBHHFMNKRITHE(7B22BHFHME) 5,000
=& 6178 |xHEMNE RBZERER 10,000
=& 6308 |FNEXEERERE BFE 8,000

& &t 31,000
REEHIKRBES ER24%E7 B4
XHIER | XA THAR ZHEEE (M)
FH 728 |NERIEERESETE FEOH 10,000
EhE |(7TH4H |FC4RITFEREMNEES 10,000
FH 748 |uEREEEZE HEOH 10,000
=58 7148 |[gI/\#EHENBRES 10,000
B&€ |(7TA18H |E—XHAYIL2012FERYMT—IRMEARIDIE 3,000
=58 7A208 |BHTEEXERER BHRE 10,000
=58 7A278 |REHEHARGEXRRE BHRE 10,000
FH 7A308 |%RlTBiHE EEDI 10,000
&7t 7H30H |$#FAlmBIiEE FHEDH 15,000

=1 88,000
REEZHKRRES TRR24%E8H %
XHIEH| XA ZHAR FZHEEE M)
=& 848 |MAEMRRETE NAZTERER 7,000
=& 8H7H |HigihigirEGES B 10,000
TEMS |88148H |BEIEHAA ITEKXFEERWEHE DR 10,000
& 8H25H |[BHERVYNTRRYKXE 10,000

& &t 37,000




REEZHRRHESE TH24FE9RH
ZWIER | XA ZHAR ZHEEEA)
=& 9878 |Hig= BH= 10,000
& 9A158 [$RIBEZAR—LEER HES 5,000
FH 9A19H |BHMERXZERTEER FEDH 10,000
=& 9228 |BEVHEEBERMREIESE Sl 5,000
=& 9H30H |[KWBEBAE WME=R 5,000

& &t 35,000
REEZHIRRRES TRE24%E108 %
XHIER | XA FHEAR ZHEEE (M)
8¢ (10898 |[E£19EMOAEMEREESR 10,000
=58 108208 | RiFEB A RE &= 5,000
=5 108278 (BHSAA U RXI5T Fry—2—F A 20FFiE S 8,000
=58 108278 [AILbERRIERHEAHESE SRESMNHLBER 5,000
=5 108278 [BH P RBERFHE R 20FAFiE A 10,000
=58 108278 |ENEHE/NROEAZREZER R 10FERE SN H 10,000
TES 10298 |[EXKEXREBREE RO 3,400

=1l 51,400
REEZHRRHESE TH24FE11 A%
ZWIER | XA ZHAR ZHEEEA)
=& 11A108 |MFEMRERYZ LSS BNI0FFRESXH-HER 10,000
=& 1MA10B |[EZ/IEREMX T EUHES SWHLBER 5,000
=& 1MB10B |t REFERR R A EEUAHESE V5D DEL 5,000
e 1MB16B|EHTREMRE FR2AEEQHLGLHFRES 10,000
=& 118228 [ENEEBH/N P ERPTAER MES BHRE 5,000
=& 11A298 [FR24FEELANWEEBNEE RES 5,000
TES 118298 |ILx o7V KE EHDIF 2,500

& &t 42,500
REEZHIRRRES TRE24%E128 %
XHIER | XA FHERAE ZHEEE (M)
FH 1248 |[BATERZEER FHEDH 10,000
=B 12858 |HEx B 10,000
FH 12868 |[BHMEREBEEE EEOWI 10,000
=58 12898 |[BFMRAR—VHETERES BES 5,000
=58 RANB | BATERGES BHS 6,000
TES [12B1B|7)LFFo7VE MIAS2BRFRESLETI Iy 2,200
=58 128148 |BHTERAATEE BHR 8,000
=58 PAYH|FEERD/NMEERERE By AEHIEB12ATEN= 5,000
=58 12A9B(BHFTEERER BHRE 10,000
E== 1 128268 | ILEXFIo7VE AN IERIFEE SEHNES 5,000

& &t 71,200




REEZ KRR ES TR 255185
XHIEH| XA ZHAR ZHEEEA)
=& 1A78 |FEBH FEEAXES 10,000
FH 1888 |TEIEBEEE HEDH 10,000
=& 18108 |—#tEZABHIEMAMBES HEEAXES 3,000
=& 18108 |[EEMAEMS HIFR 10,000
=& 1188 |hESH#ftEREZE BES 4,000
=& 1188 [BHTEIR FHER 6,000
=& 18208 (BHMEHE BHR= 8,000
=& 18228 [#HEABRBZEASE HEEAXES 5,000
=& 18238 [BHATEZEER BHRE 10,000
=& 18248 |[HEBEATESEREZERERDES BES 10,000
=& 18258 |[EEBHERKESR FERS 5,000
=& 18278 |[BKOFNE FHES 5,000

& &t 86,000
REEZHIRRRES TR 2552 %
XHIER | XA THAR ZHEEE (M)
=5 2828 |TEREHNEBRBERRES KR 10,000
=5 2A28 |BHTAEHGE BHRE 5,000
=5 2A58 [BHMEEHEE BHR= 5,000
FH 2188 [RIR—VH#H#ETE HEDH 10,000
=5 28208 |HLAVIL XTI TIN—F 14— 5,000
=5 2A238 [VABREBEEYESTHSGEHXE BHRE 3,000
=8 28248 |EX@EBRE VILN—BES 5,000
=58 2A27H |FTEREMAE REMESR 8,000

=l 51,000
REEZHKRBRES TRR25%38 %
XHIEH| XA ZHAR ZHEEE M)
=& 3H2B |HMERXER BE= 4,000
=& 3A12H |NMERKRIEEEEE BHER 10,000
=& 3298 |THmZEEMEBREE 3,000

& &t 17,000
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